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PRE-BOARD EXAMINATION (FIRST) 2021-22

CLASS : XII
SUBJECT: ACCOUNTANCY (055)
Time Allowed : 90 Min. Maximum Marks : 40
g : 90 THae AfereRaw 31 - 40
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General Instructions-

Read the following instructions very carefully and strictly follow them:

1. This question paper comprises two PARTS-I and 11. There are 55 questions
in the question paper.

2. There is an internal choice provided in each Sections.
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n A has questions

. : : 10
1. Part-I, contains three Sections -A, B and C. Sectl you have to

) : 6
from 1 to 18 and Section B has questions from 19 to 36,
attempt any 15 questions each in both the sections. t
Part I, Section C has questions from 37 to 41. You have to attemp
four questions.
iii.  Part Il contains two Sections A and B. Section A has questions from
*42 to 48, you have to attempt any five questions and Section B has
questions from 49 to 55, you have to attempt any six questions.

3 All questions cay equal marks. There is no negative marking.

Specific instructions related to each part and subdivisions (Section) is
mentioned clearly before the questions. Candidates should read them

thoroughly and attempt accordingly.
sk sk sk 3k ok ok sk oskosk skoskoko sk ok

. any
11.

HAT-1
HT-<h

Part-1
Section-A

ﬁé?’l‘:

w9T 1 ¥ 18 T ¥ TRl 15 UwHl &1 WY 2|
Instructions: | ‘

From question number 1 to 18, attempt any 15 questions.

i . @Wa@mémmwﬁﬁmwmmﬁma
peEC Uil | G L] p— WEER % IS E@El o
£ ¥ TR X e S gl

(@) () T, (i) TC A T AT
b) () T, (ii) F AT AR I
© () T, (i) @ S

@ (i) 7, (ii) e S
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\ ® N ~\ L oy 2 . -
O he admission of @ new partner. Profit or Loss on the revaluation of

\\\\\\\\\\\

ANV OF reassassment of ?m‘:zh ties is transferred to Partners
Captal account in their
@ O-‘- QD Now profit she aring ratio.
@) ‘ Ol (1) 0ld profit sharing ratio.

) ,.-\ —_— .
(<A W *\\‘“. \-1\ Sacnficin 1@ ratio.
N RAR S
23 () Naw, ) G ““"‘\: ato.

=T WS X 1000 S ¥ [OT e MG S g U Wi
TS TN ST 20000 I F N IEsE W T ¥ AR 15000 AW H

N e g— S o A= a0 aier sTER
SER® 1 AEWIES s 5T 7= W 3K S W 500 W et
£ e X - S L N P S = N

=Y W{ T T THE S W ¥ 9T AESA g1 w2

3 1000 (® 850
{©) 750 (d 600

ISSURY prospectus inviting applications for 10.000 shares.
- mons were received for 20.000 shares and pro-rata allotment was
e to the eppli t of 15,000 shares. If Seema has been allotted 500
shares, how many share< she must have applied for?

@ 1.000 (b) 850
(&7 730 d 600

~ - 2 - . ~ -~ S e ~ ~ ~
=0 SR Fa= F° T = T0E R OSE AN [GiHeeS, I8 10 %
=T H 20% T WiHgY W S W THR I T e W T 4, WA
w3 3 IR T 9T W T 2 |G B S

~

a TSR AII b)) TR AT AT 2
(c) ITHU IR AGm Ea T3 (d) IV AR fgq =41 T 4
Calculate the amount of second & final call when Abhijit Ltd. issues Equity
shares of ¥ 10 each at a premium of 20% payable on Application ¥ 4, On
Allotment T 3 and on First Call < 2.

(2) Second & final call < 1. (b) Second & final call T 2.

{c)” Second & final call T 3. (d) Second & final call ¥ 4.

e F G BT AT A % Y TH ST S wEEH N F W
= HfaiEa, T 90 &1 Y99 @l 8l

(@) @frEa G () Frif gsi

(c). =HET geit (d) 3RiHa gsi

o
"
W
(¥Y]

3 XII-ACCOUNTANCY-M

Scanned with CamScanner



: t to call
is the part of Share Capital that a company resolyes o

except in the event of it being wound up. .
(a)  Authorised Capital (b)  Issued Capltz.ll

(¢)  Subscribed Capital. Jd)  Reserve Capital.
TR wH ¥ UH GERR % WY % um, uw Afafed
AFT@T F FRUT BI:

(a) IR WERRY H ey

(b) NI WERRY

(©) TSR URRR w1 7 q sifreny ik 7 € s

(d) 3 9T WKW Wi s

At the time of admission of a partner in the Partnership Firm, recording of an

unrecorded asset will lead to:

(;1/ Gain to the existing partners

(b) Loss to the existing partners

(c)  Neither gain nor loss to the existing partners

(d) Gain to the incoming partner

WY 3R @ifd © w6 H 32 % ogu| § nw-ghT aed gC dRER 8
T T (35T0T) ;
Cxcie | ottt I
2 TR 1,60 000 \
afg gor 99 ¥ qReltad Wk % qed H 20% HH Hodihe [hal T ©
T ge[ 9 H @ S Ser e’ S g T hite:
(a) ¥ 2,00,000 | (b) T 192,00

(c) ¥ 128,000 (d < 1,10,000
Ramesh and Swati are partners in a firm sharing profits and losses in the
ratio of 3:2.

dafa &

Balance Sheet (Extract)

Liabilities 3 Assets S
Furniture 1,60.000

4  XI-ACCOUNTANCY-M
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ber

If the value of furniture reflected in the balance sheet is undervalued by ‘

20%. find out the value of Furniture to be shown in the new Balance Sheet: 5
v(al)‘ 3 2,00,000. (b) T 1,92,000,
(© ¥ 1.28.000, (d) ¥ 1,10,000.

ﬁmﬁiﬁaﬁ ¥ Q¥ wF o wr, w ud e fafein e § weme @ e
2

(i) ERRR ® Ao (i) WeMF H R

(i) WRER & FU W A (iv) EEER 1 HHT
Ta&eq -

(a) HaA (i) (b) (i) 3 (iv)

© (i) 3 (i) d) (i), (iii) 3 (iv)
Which of the following item(s) does not appear in the Profit and Loss
Appropriation A/c?

(i)  Partner’s Salary i)  Manager’s Commission
\(ji'f) Interest on Partner’s Loan (iv) Partner’s Commission
Options:

(@  Only (i1) (b) (ii) and (iv)

L&) (i) and (iii) (d) (ii), (iii) and (iv)

SRR fafies 3 10,000 THaT o9l ww X 10 w Frifed foan, o =
9,500 37 & foIT &S e U STERT W X 4, e W T 3, Tl
T W % 2 3R gEd iR sifm AT W vw TRT % w9 H ¥ < 4
Ifz 300 Y T AT TH HIUNH T 3R AfH | W T @ 7,
d gl iR sifaw A W feRa AT W 82

(a) 9,700 (b) 9,500

(c) %9200 (d 9,000

RR Ltd issued 10,000 Equity Shares of ¥ 10 each, of these 9,500 shares were
subscribed. The amount was payable as ¥ 4 on application, ¥ 3 on allotment,
% 2 on First Call and balance on Second and Final call. If a shareholder
holding 300 shares has defaulted on Second and Final Call, what is the
amount of money received on Second and Final Call?

@ 9,700 - (b) %9,500
(€) 9,200 d) 9,000
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10.

11.

W.Waﬁmzzzzlﬁwﬁwwaﬁaﬁm%ym
U % oTER, T @ e 9 o @i & feed % ®I H T
Z 40,000 ¥ TRT W T 2 oK @ TW @R § e ot HH B TS
SN SRR w9 § 98 A S 21 31 " 2021 F gHa 99 b g
IE T T 180,000 o1l TSE BRI GET R W AT wHHT b AR B
TOAT FL?

(@ ¥ 40,000 ; (b) T 36,000

(c) T 8,000 d) T 4000

Rajeev, Suresh and Gagan are partners sharing profits in the ratio of 2:2:1.
According to the partnership agreement, Gagan is to get a minimum amount
of ¥ 40,000 as his share of profits every year and any deficiency on this
account is to be personally borne by Rajeev. The net profit for the year
ended 31% March 2021 amounted to ¥ 1,80,000. Calculate the amount of

deficiency to be borne by Rajeev?

(a) ¥40,000. ~ (b) 36,000.

(c) $8,000. (d ¥ 4,000.

TR WAl 9K i o 9%, GEEK o (e % weE, |atd @
Hﬁwqﬁﬁm ST .

() A qEF W (b) W T R

(c) TS 7 W d) TR I W

After preparing Revaluation A/c, at the time of reconstitution of Partnership,
Assets will be shown in the new Balance Sheet at:

(d) Present Value. (b) Cost Value.
(¢) Net Value. (d) Book Value.

WERR "o % e, Frfafad § @ SR-W 99 8
(a) T GEER & TEH e 90 %1 gheR R
(b) 3RV W =N Tl S|

(c) Tt R &I @ 6% 9fd o8 JgH fewan sl

(d) UERER % o9 WY I9H ®9 W 9En fHa s
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12.

8.

14.

In the absence of partnership deed, which of the following is true
(11) Active partner is entitled to fixed salary every month.
(b)  Interest on Drawing will be charged.
(¢c)  Interest on Capital will be provided @ 6% p.a.
\/(d)/ Profit will be shared equally among the partners.
WIS o Yov o wme Frefafad gaaet &1 &1 99 e

SR Gfagfd =g o 9w ¥ T 25,000.

SR Gfaqfd o fag 3@ T 35,000

(@) ¥ 35000 SRR o USH @@ o 99 fwe T
(b) ¥ 35,000 TfearR @@ § T Ry T

(¢) % 10,000 Yl @ # 9™ fwe U

(d) T 10,000 GHeaiRd @ | s fohg Tl

At the time of admission of a partner, what will be the effect of the
following information? ' |
Balance in Workmen compensation reserve < 25,000.

Claim for workmen compensation ¥ 35,000.

(a) ¥ 35,000 Debited to the Partner’s capital Accounts.

(b) ¥ 35,000 Debited to Revaluation Account.

(c) 10,000 Debited to Revaluation Account.

(d) ¥ 10,00 Credited to Revaluation Account.

SOt sifufted 2013 o STIER, B0 fRT U e i, R ® S e
S |l B |

(a) T W (b) 3fEremT W

(c) T W _— (d) W H ¥ FR Al
As per the Companies Act 20 1K3, Forfeited shares can be reissued at:
(a) Par (b) Premium.

(¢) Discount. )  Any of the above.

aﬁwwﬁﬁﬁﬁaﬁﬁmaﬁwiﬁﬁ?wopoo%,mwﬁm
aﬁm%so,ooo%aﬁtwmwﬁiwalo%%,a‘raﬂquﬁ

et fafy & AR SR O e
(@  %2,00,000 (b) T 4,00,000
() %6,00,000 (d)  8,00,000
7 XII-ACCOUNTANCY-M
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15.

16.

¢ of actual profits

Aina firm is T 4,00,000, averag 1
ed in o firm 1% ' f goodwill as per

If average capital employ
000 a f return is 10%, then value 0

is T 80,000 and normal rate 0 .
capitalization of average profit method is:

(@)  ¥2.00,000 (b)y  T4,00,000
(c) T6.00,000 (d) ¥8.00,000

st affEm 2013 W o 52 F SR, Wil ifiprg dEA H
mmmaﬁﬁmmm%:

@) T & yRiTE @El &l erfafad H

(b) IO WS W9 W S ST

©) @9 % A g e H Irufafad HE

d) 9 =F & W A HwA (T HA)

As per Section 52 of Companies Ad 2013, Securities Premium Reserve

cannot be utilised for;
(a)  Writing off preliminary expenses of the company.
(b) Issue of fully paid bonus shares.
\(c’f Writing off losses incurred during the year.
(d) Purchasing of its own shares (buy back).
o6 % sy @ e, W o TR 4:3:1 % T ¥ WERR €1 A =
& ¥ 4§ Fr % 9 F e € 200000 ¥ W@ ¥, WA 6 A

F1 fem=m 1 B2
@ % 200000 - () T 150000
() % 100000  (d) ¥ 50000

From the begaining of the year Neeraj, Shashi and Gaurav are partners in the
ratio of 4:3:1. If Neeraj’s share of profit at the end of the year amounted to

Z 2,00,000, what will be Gaurav’s share of profits?
(@) ¥2,00,000. (b) ¥ 1,50,000.

© % 1,00,000. d) ¥ 50,000.

8 XII-ACCOUNTANCY-M
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17.

18.

AsﬁtBH@mﬁﬁwwaﬁrmﬁﬁméﬁaﬁmﬁzﬁzﬁau
aﬁa,zozlaﬁﬁﬁcﬁwwm$mﬁ@wmaﬁtw
IFFUE 3:2:1 %mﬁmWW|wﬁ@ﬁmm‘mz
300,000 Tam T C e & fom B wh T W wEN A #v B
U H SR R Al @ e w e w: |

(8 30,000 3R T 20000 HHI:
(b) 25,000 3R T 25,000 HHIA:
(c) 20,000 3R 30,000 THHI:

(d =

A and B were partners sharing profits and losses in the ratio of 3:2. On 1%
April, 2021 they admitted C as a new partner and new ratio was decided as
3:2:1. Goodwill of the firm was valued as ¥ 3,00,000. C couldn’t bring any
amount for goodwill. Amount of goodwill share to be credited to A and B
Accounts will be: |

(@) ¥ 30,000 and ¥ 20,000 respectively

(b) 25,000 and ¥ 25,000 respectively

(c) 20,000 and ¥ 30,000 respectively

(d) Nil .

G a1 st §99 1 g F B2 AR

TR %t T fafaw wufea = € 1,00,000, W fRa W fafoy @RR =
720,000, 9 Gid®wd = T 55,000

@ ¥1,00,000 (st =) (b) 80,00 (EA)

) ¥25000 (Yt §4) (d) 25000 (=fA)

 What will be the amount of Goodwill or Capital Reserve? If

Sundry Assets taken over = ¥ 1,00,000, Sundry Creditors taken over =
% 20,000, Purchase Consideration = ¥ 55,000.

(a) ¥ 1,00,000 (Capital Reserve)  (b) ¥ 80,000 (Goodwill)
(c) ¥ 25,000 (Capital Reserve)  (d) 25,000 (Goodwill)

9 XII-ACCOUNTANCY-M
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HAOT-1

BkCERC
Part-I
Section-B
e
9T 19 | 36 ¥ ¥ fapt 15 wgAl o1 S7R 2
Instructions:

From question number 19 to 36, attempt any 15 questions.

19.

20.

fie ok ofeet w w4 d WERR 9 S qud T H, WiE
1,00,000; IER T 60,000 3R &R T 20,000 W fE@m@ T AW =
qﬁﬂ@m%mﬁmﬁmW|maﬂ%9oooomm
foRaT T, T 10,000 ¥ SRRl T @1 FHT S HT H9EA AR 7 IR T
10000@?@6@@3@@@%@?@4@%14 @ =
fewan =mm:

(a) ¥20,000 (T1H) (b) - 10,000 (BI)

(c) ¥5,000 (=BIf) (d 5000 (A1)

Nirmal and Sahil were partners in a firm. Their Balance Sheet showed Stock
at T 1,00,000; Debtors at T 60,000 and Creditors at ¥ 20,000. Manavi was
admitted as a new partner. Stock was revalued at ¥ 90,000, Creditors of
10,000 are not likely to be claimed and Debtors for I 10,000 have become
irrecoverable. Share of Nirmal in Profit/Loss on revaluation will be:

(a) 20,000 (Profit) (b) 10,000 (Loss)

) % 5,000 (Loss) d) 5,000 (Profit)
qﬁ%{aﬁ?ﬁmﬁqwq% @aﬁﬁ‘%’%(A)aﬁT@iﬁW(R)éﬁ
w9 A sifpa frm T R

afreT (A) @ WERR B G W =W, @ SR w fafEm e w §
fe@man T 2 . R

FWOT (R) : TFE: SRR &1 O | = a9 R s § v
R w o FAR iR swes forg fafere T g ©)

SRE U & §ed o, Frfafad § 9§ w9 W T 8?7

10 XII-ACCOUNTANCY-M
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21.

%W:

@) (A) W T, AR (R) o B
(b) A (A) R (R) W& T

© (A @ E, df (R) TE R
(d) TH(A) R (R) ToE@ R

Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R)

Assertion (A) : Interest on Partners Capital is shown in Profit & Loss
Appropriation A/c.

Reason (R) : Generally Interest on Partners Capital is given only when

Partnership Firm earns the profits and there is specific agreement for it.

In the context of the above statements, which one of the following is
correct?

Options:

(@) (A)is correct, but (R) is wrong.

(b) Both (A) and (R) are correct.

(c) (A) is wrong, but (R) is correct.

(d) Both (A) and (R) are wrong.

aifer 3R Gt 3:2 oF ofuE W o SR B wied ot WERR 1 gd
A9 H 1/4 9 & foau yaw e T, afes 97 o e w1 =&fa
& Y H AHS H @M H ommed o enfa w & fau I &+ W,

feeten | feraon TA. | Dr.(%) | Cr.(X)
T,
g <1 =1e], Tl 20 000
et & ISl @ | ~ 12,000

gra o gSit @ 9 8 000
(V&S = Fou W eAfq i |

THIESH)

1l . XII-ACCOUNTANCY-M
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aifrer, G SR Uger o1 enw-sear ST B
(b) 6:4:1

(@ 3:2:1
0:4:4

(c) 9:6:5 (d)
Anil and Sunil were partners sharing profits and losses in the ratio 'of 3:2.
Rahul was admitted for 1/4™ share in the profit but was unable to bring hl”’
share of goodwill premium in cash. The Journal entry recorded for goodwill

premium is given below: e
LE| br.@) | Cr.()

Date Particular D Dr.})
Rahul’s Current A/c .. Dr 20,000

To Anil’s Capital A/c 12,000

8,000

To Sunil’s Capital A/c
(Adjustment of goodwill premium on
Rahul’s Admission)

The new profit-sharing ratio of Anil, Sunil and Rahul will be

(@) 3:2:1 (b) 6:4:1

(c) 9:6:5 | (d) 9:4:4

foreor iR gE WERR ¥ ok 2:1 & ogud H W dAled g1 AR H
173 feed & fau wdw wwn e en, fowen 23 fFo 7 swer ® fam
aﬁtmmw.wﬁM|wﬁaﬁwﬁmqmizmoo%lw
¥ it @R e & fere et af e S

(a) %3000 (b) 6,000
(c) 9,000 d) ¥ 18,000

Kiran and Suman are partners sharing profits in the ratio of 2:1. Mc')n.ika was
admitted for 1/3 share of which 2/3 was gifted by Kiran. The remaining was
contributed by Suman. Goodwill of the firm is valued at 27,000. How much

amount for goodwill will be credited to Suman’s Capital account?

(a) % 3,000. (b) % 6,000.
Z9,000. (d) ¥ 18,000

© | .
m,a@ﬁﬁ%m%,mmmﬁmmmm
w0 § = F AN §1 S 7 o TR i yeem ¥ w ffvea
frach @R T F oid H TR W SEH W T 13000 1 SEH

Hifiger STTexl i Tfe feraet eft?

12 XII-ACCOUNTANCY-M
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24.

(@) 10,000 (b) %2000
()  T40,000 (d) T 80,000

X, Y and Z are partners, their partnership deed provides for interest on
drawings at 5% per annum. Z withdrew a fixed amount in the beginning of
every month and his interest on drawings amounted to ¥ 13,000 at the end of
the year. What was the amount of his monthly drawings?

(@) 10,000 (b) 20,000
() 40,000 (d) 80,000

Y, A 3R W ©F wH § GRRR ¥ 8K 22:1 % euE § ooz
S 11 e 2021 W, TR W w9 AW S H 2:12 H
o w1 Tofa o 5w A @i, e SEd @@ w1 Tm I
350,000 9o U9 ® fe@i fn ot uEReR 3 w@e fau uw wEEeH
giafe o @ @1 fofg foen frafafed § 9 9 @ fowe o

& o 9t sy=r <9 =2
IEEICD faerur Dr.(2) | Cr.(2) |

T
T,

@ |og ®1 gt @ .. ™ 10,000
T & ISt @ 9 10,000
(TS gfafe g9 o R0

®) |T & gt @@ .. T 10,000
A % g @ o 10,000
(FuEiSH gfafte gF o 6T

(c) |HF &1 St @Il ... TH 10,000
H o g @m | 10,000
(ArErsH wfafe gF o o)

(d |@r® gst @m L T 10 000
31 o Ooft @ 9 10,000 |-
(TR fafe g o W)

13 XII-ACCOUNTANCY-M
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25.

s and losses in the
heir profit-sharing
Suspense A/c

Anu, Monu and Sonu are partners in a firm sharing proﬁl‘
ratio of 2:2:1. On 1st April 2021, they decided to change t
ratio to 2:1:2. On that date, debit balance of Advertisement
¥ 50,000 appeared in the balance sheet and partners decided to pass an
adjusting entry for it.

Which of the following option represents the correct treatment for the

above?
Date Particulars L.F.| Dr.(®) Cr. ()
(a) Anu’s Capital A/c ..Dr 10,000
To Monu’s Capital A/c 10,000
(Being adjustment entry passed)
(b) | Sonu’s Capital A/c  ..Dr | 10,000
To Monu’s Capital A/c 10,000
(Being adjustment entry passed) J
(¢) |Monu’s Capital A/c  ..Dr 10,000
To Sonu’s Capital A/c \ 10,000
(Being adjustment entry passed)
(d) | Sonu’s Capital A/c  ..Dr 10,000
To Anu’s Capital A/c 10,000
(Being adjustment entry passed)

TqTTd fafe ¥ 1000 SN 10 WOE 1 qU: AFE@ HT OB
foren, T8 T Fa@ T 4 H SERA AW B P FHE T E o W
200 gl T qA: Frifwa fRa mn SR % 600 W USH oMM @ o
AR HT R T IW O H A HE N W T STl w O
fipffir fomen T oMl | |
@ % 10 Wi efw b) T 9 ¥t oW
(©) T 8 Wk @ (@ 730 @

MNP Ltd forfeited 1,000 shares of ¥ 10 each, fully called up, on which only
application money of ¥ 4 has been paid. Out of these 200 shares were
reissued and T 600 has been transferred to capital reserve. Calculate the rate

at which these shares were reissued.
(a) ¥ 10 Per share ©) % 9 Per share -
(c) ¥ 8 Per share (d) X 7 Per share

14 XII-ACCOUNTANCY-M
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260,

27.

W wmert fqu g § v g s (A) S0T 5t Y wEp (R)
o s e e i

MR (A) + v g A A A e e e
P i W v e fen s )

A  E W

OUT (R) @ 9 wifog env she wife =0 omiem 6 gdqm 11 ager At =
a1 v ¥
SURNRN Q) ool S wid 1, Frfefea A g
N
' | a, Ky " »
(1)  BET(A) 3 (R) HEl & 309 (R) (A) 1 T FEOT 2|
(b) T (A) @i (R) W & afaF (R) (A) 1 @1 FE0 74 2

(¢c) &ad (R) Gl Bl
(d) T (A) 3R (R) T 2

Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R): ,
Assertion (A) Accumulated profits and Losses are transferred to

Revaluation A/c, at the time of Admission of a partner.
Reason (R) : These Accumulated Profits and Losses are earned Profits or

Losses incurred before the admission of new partner.
In the context of the above statements, which one of the following is

correct?

Codes:
(a)  Both (A) and (R) are correct and (R) is the correct reason of (A).

(b)  Both (A) and (R) are correct but (R) is not the correct reason of (A).

(c)  Only (R) is correct.
(d) Both (A) and (R) are wrong.
THar 2R W 2:1 @ UM H oY died ol WEER €1 31 " 2021

F GERR Y H A9 T 350,000 €1 WEEH Her@ § wEar IR el @l
SAET: T 12,000 3R T 8,000 1 Yt W =AW YW foRA wHAT TH TE A

FHOH oY % 98, Yo YR @9 W 10% H W Y FHHEE w1 o
e T A9al 1 TR FHEE I g

15 XII-ACCOUNTANCY-M
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28.

(@) 3,000 () ¥ 30,000

() ¥ 33,000 (d) 35000

Mamta and Sakshi are partners sharing profit in the ratio Z:l, Oq j-lstirl:/tlgsgﬁ
2021, firms net profit is ¥ 3,50,000. The partnership deed provi cMamta .
on capital to Mamta and Sakshi ¥ 12,000 and ? 2},900 respectively. -
also entitled to commission @10% on net divisible profits, after charging
such commission. What will be the Commission payable to Mamta?

(a) 3,000 (b) 30,000

(c) 33,000 (d 35000

1 3¥d, 2021 aﬁ,@qﬁﬁ%@mwﬁmwaﬁ?mﬁﬁﬂﬁmm

95 T T 20,000 T G T 10 WEF o A e At R, <

R 2 ®:

| W ' : : T3
A W : %5
g 3R 3ifam T | : T2

25000 3TN & Tou EeT W T SIR HU ¥ SIUah SAUR W A
1 aeed A S wem iR offm Wi w1 W, W@ 1,000 M Ok TH
YRS A W ART 1 YA &I R

g fafte & gom v A Cerfaea IS vt o ded Tt Tl
@i sei? | .

(a) ¥ 1,90,000 (b) ¥1,98,000

(c) 2,00,000 (d) ¥2,50,000

On 1% April,2021, Avenue Ltd was formed and company issued prospectus
inviting applications for 20,000 equity shares of ¥ 10 each payable as

follows:

On Application : 33
On Allotment : 35
On First and Final Call ) 32

Applications for 25,000 shares were received and company allotted shares
on pro-rata basis. When first and final call was made, a shareholder of 1,000
shares did not pay the call money.

What amount will be shown under the Heading Subscribed Capital in the
Balance Sheet of Avenue Ltd. e e

(@ ¥1,90,000 (b) ¥1,98,000

(¢) ¥2,00,000 (d ¥2,50,000
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29. ’ﬁwafnﬁmmzéaaﬁqmﬁm%tmwéﬁw:?

30.

200000 SR ¥ 300000 offl = & fow W F AR FH b AR, T
@R G W e S 10% Wi @d wem F o fou wewa e,
Tt | 5% 9id 99 yem fpm wan om afE @ERr S| o fau swHEsE
T 9" & &1 fofg o9 €, @ e & @ R fwa gae 1gm?
(a) TRT & =g @ F 2 5000 e fRT S
(b) RS & = @™ ¥ % 10,000 e fHy Al
(c) TiRa %= @W H T 20,000 shee fHT STl
(d) TRE % = @R H g 25,000 e fHT ST

Gaurav and Vikas are partners in the ratio of 3:2. Their Fixed Capital were
¥ 2,00,000 and ¥ 3,00,000 respectively. After the closing of accounts for the
year it was observed that the Interest on Capital which was agreed to be
provided at 10% pa was erroneously provided at 5% p.a. By what amount
will Gaurav’s account be affected if partners decide to pass an adjustment
entry for the same?

() Gaurav’s Current A/c will be Debited by ¥ 5,000.

(b)  Gaurav’s Current A/c will be Credited by < 10,000.
(c) Gaurav’s Current A/c will be Credited by ¥ 20,000.
(d) Gaurav’s Current A/c will be Debited by T 25,000.

e F A9 fafide gW Ui STYR W 200 WHAT AW H
sz e T o1, T TaE @ emee & o < st s TR 4l
S 73 T 9 HY STaEA URT W M fRA o R X 4 Wia W W
sz TR F A T F W O U T3 W S A wEE IR
S W 214 9% ET HI T o I 3 w1 T W fFrfated
yfeaftz wifid st STl
g9l A7 gt @Er ... TH X

T @ o 7Y

[u W S @AW W RZ
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31.

32.

72t X, Y $IRZ

(@) T2,000; T1400; 600 hHY:|
(b). ¥2,000; ¥ 1200; T 800 HH:I
(¢) T 1400; T600; T 800 hHVI:I

(d) T 1400; T900; T 500 shHAT: : .
Manoj had been allotted for 200 cquity shares by TTM Ltd on pro rata ba;15
which had issued two shares for every three applied. He had paid application
money of ¥ 3 per share and could not pay allotment moncy of T 4 per shart'zﬂ.
First and final call of ¥ 3 per share was not yet made by the company. His

shares were forfeited. the following entry will be passed:

Equity Share Capital A/c ....Dr X
To Share Forfeited A/c 7Y
To Equity Share Allotment A/c RZ
Here X, Y and Z are:

(@) ¥2,000; T 1,400; X 600 respectively.

(b) ¥2,000; T 1,200; X 800 respectively.

(c) ¥ 1,400; X 600; ¥ 800.respectively.

(d) T 1,400; T 900; T 500 respectively.

TEg SR O 43 & oUW ¥ WERR €1 9E ® THF WEER % ®9 H
vay fen T @R 9 T % R 1 1/4 9 o B R o e d
3T F 1/7 1 R TN AN faASE U F T2

(a) 3:3:l (b) 322

(c) 4:3:2 (d) 4:2:1
X and Y are partners in the ratio of 4:3. Z is admitted as a partner and he
takes 1/4™ -of X’s share. Y gives 1/7 from his share to Z. What is the New

Profit Sharing Ratio?

(a) 3:3:1 (b) 3:2:2

(c) 4:3:2 ‘ (d) 4:2:1

Hor, e SR G 2:2:1 F UM | HAN: T 200,000, T 1,00,000 IR
Z1,00000 F TSt 3 T wnw iR B Wen FH AR WHER T WHEA

wor@ o et W 10% Ul o ) @ S F WEEE ¥l SR ad & fau
A9 £28,000 ¥ T F SR G B Gt W T w o smom?
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34.

(@ 295000

) T 16,000
©) 10,000 (d)y  T7000

Sanjay, « ;

mlii {,[‘N;(;)zh;u]" \.l’ll\t(ll] h:-::.;;‘:,]:ni,:'hg |);l’(l)l(\)(,‘(l‘)!~(i)(.‘;hilzl’im; (p(r(:ﬁls and l(ﬁ)sscs in the
respectively. Partnershin I)(;C(‘ w 'f‘* ‘f - inte “" pe ’”? ‘f“d o 1% e
and profit for (he year lia; X 28 2):)(())“!-(!;'\:/ :)I lt;lcftt.% t (~) r'] C«}pllitl - ”')0 d o
Suresh’s Canyt i {hc y,;“,r? nuch interest will be provided on
(@) ¥ 16,000 (by T 14,000

(¢) X 10,000 (d)y <X 7,(;00

T&aH fafirde 3 300 stel 2 10 wew w, fm W T 7 F A F, T
R formn, S w st A T 3 F omeea ufw e T 2 Ul dw F aE
HT P fwe e | @ 200 W Hefa & X 7 Ufd Fw oF oA,
9ol wew & w9 N, q9; Frifag fee o e oSt emfed @ F fEa At
TYFIART I TE? |

(a) 200 (b) 300

(©) T400 d) %800

Naveen Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, on which John
had paid application money ¥ 3 and allotment money of ¥ 2 per share. Out of
these, 200 shares were reissued to Sanjeev as fully paid up for X 7 per share.
What is the amount that has been transferred to Capital Reserve Account?

(b)) 214,000

(@) %200 (b) 300

) 400 (d) T 800
mmﬁmmmm@mﬁnmm
g TR

) 1,000mmmﬁ%1oomaﬁ5%awﬁfmm
i) ¥ 100000 % 6% e ofel TR R 3R

(i) ¥ 90,000 1 <F

| Wﬁmﬁﬁwwmqﬁwwm?

(b) 290000

(@) 200,000
| ~(d)” ¥3,00000
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L8]
N

Ltd and paid for it by

own Street : _ i
at a premium of 5%

Uphigh Ltd took over business of D
each

() Issue of 1,000 Equity Shares of 100

(i) 6% Preference Shares of 1,00,000 at a par and

(iti) a cheque of < 90,000. . '
What was the total agreed purchase consideration payable to Down Street
Ltd.

(@  ¥2.00.000 (b) ¥2,90,000

(c) T2.95.000 d) ¥ 3,00,909 N .
o fafiRe 4 ¢ 10 & & 1,oo,ooommﬁ1warﬁaﬁ%l

a9 a%, T 9 WK oy & Wm # M § IR 2,000 e | T 3 WA I
aﬁt4,oooaﬂﬁﬁr@%mé@mm@%zgﬁmﬁmaﬁ
Srew T RN W & $1 wH w gew o § AEE w0 A
& I & w9 § weifq € el afer = gni?

(@ <10,00,000 (b) T9.86,000

(¢) <9,00,00 (d) 886,000

Indors Ltd has Issued Capital of 1,00,000 Equity shares of ¥ 10 each. Till
Date, ¥ 9 per share have been called up and the entire amount received
except calls of ¥ 3 per share on 2,000 shares and ¥ 2 per share from another
holder who held 4,000 shares. What will be amount appearing as Subscribed
but not fully paid capital in the balance sheet of the company?

(a) % 10,00,000 (b) ¥ 9.,86,000
(c) ¥ 9,00,000 d) ¥ 8,86,000
T 9 FUT U TR, TF F SEE (A) SR TR H FRW (R) T

®9 § sifrd fea T T

SIRTFRTT (A) : T T W w1 T A T F AR, FW WO W
F o gen YW St W @R § waRa wfen s Q)

HWOT (R) : &0 FFT T S9N & AR W 9 TR Thfa w1 wa
3, Tofern 8Ost W @R A wEaRa W R S R

SR @ FeE & wed o, frefafen § ¥ W W A {2

@ =i (A) R (R) W& &, AR (R) (A) F WE = T R

b) = (A) 3t (R) WA & 3R (R) (A) B T = T

(¢) = (A) IR (R) T B

@ (A) W@ 2, S R®) TR Y
20 XII-ACCOUNTANCY-M

Scannex d with CamScanner



Given bel

OwW are two stateme i
\ Ste cnts, one labelled as Assertion (A) and er

labelled as Reason (R). (A) and the oth

Assertion © After ea X e
on (A) : After reissue of all the forfeited shares, balance left in

ﬁz;f:;t:(;lil)m.r%s'/.'\ccounl' is lrmm‘ll‘:rrg"d- to Capital Reserve Account. .
on M on reissue of forfeited shares is of revenue nature that is
why it is transferred to Capital Reserve Alc.
In the context of the
correct?
(@)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(b)  Both (A) and (R) are true and (R) is a correct explanation of (A).
(¢)  Both (A) and (R) are false.
(d)  (A)is false, but (R) is true.

A1

.

WS-
Part 1
Section-C

above statements, which one of the following is

o
9T 37 | 41 ¥ ¥ Tl 4 woAl a1 7 €

Instructions:
From question number 37 to 41, attempt any 4 questions.

q¥T TE 37 3R 38 A9 & TE weuttn feefd W ernfa T
aa fafies, sifemiara § Hefud syl o fmo o @i g 31
¥ %1,00,00,000 % fafaa faw g fosell s # foR & =1 foE
fomn 21 Py 3 fofg fom ? fo6 3@ oTawasa &1 25% Jewias
507 SR 99 T 379 S0 ek famifaa fean smom
ot % Udg W S SER, FHA ¥ T Sfhd e 3 100 WS
o1 31 FE H ©fa Hw AE W T g A AW 25 WAl B A
w S fE e FRee 3 afed i (e wfEd) T w5
forn qaie sfer S w1 Fofa fermn
S & forn wfaEwor wm W fRar mnoen, oW ww FRiEA @ 30,000
v g erfy erfagE femam RN o, e W% & T S fey T oAl
aEET W & |l ufer w8 el :
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ﬁéﬁqmmfﬁwamﬁmﬁﬂﬂm@aﬁa”mmiﬂ

qfer <7 ot
Anant Limited is engaged in manufacture of automobile related equlpmf’nts~
t by additional

The company has decided to expand in foreign marke / i
investment of ¥ 1,00,00,000. Directors have decided that 25% of this
requirement would be financed by raising long term debts and balance by

issue of Equity shares. :

As per memorandum of association of the company, the face value of Equity
shares is ¥ 100 each. Considering the goodwill of the company, these sh'c.\res'
would be issued at a premium of 25%. Directors decided to issue sufficient
shares to collect the desired amount (including premium).

The prospectus was issued to public, and the issue was oversubscribed by
30,000 shares which were issued letters of regret. All the amount was
received on Application itself. '

Answer the below mentioned questions considering that the entire amount

was payable on application.

37.  STAA T THA HI R FA A 72

(a I1,1250000 (b) ¥92,50,000
(c) % 7500,000 (d %1,11,50,000
What is the total amount collected on application?
(a) <1,12,50,000 : (b) 92,50,000
(c) ¥ 75,00,000 (d % 1,11,50,000

38,  3rq fofies g fohas Sl oSl SR i 1 UIER Wi TR of?
(a) 40,000 9 (b) 50000
(c) 60,000 (d) ¥80,000 T
How many Equity shares were offered for issue by Anant Ltd?
(a) 40,000 shares (b)  50,G00 shares
(¢) 60,000 shares (d) 80,000 shares

9% e 39, 40 3R 41 9§ T Fredte fofd ® anaRa 2 _
| eTaRER 2020 1, W iR foom 7 feforea As W, TR FIwER =

F fu ‘TR’ % AW 9 oI WERH wH ¥E W e fasm A
S % T A FHE: T 400,000/~ AR T 600000/~ FRRT F w1 Fola
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[ 31 A 2001 =y

Feferfa SRR Wom = s
fomror T (%)
o ) 2 00,000
T = 10,000 9fd A&
oS TS (FAR % w9 ) 10% wfa =d
fersm 1 wuiier T e A 10% S @ & I

300,000 il

ﬁé@—wéwwqmmaﬁm,mmm

& gegafd &l |

Question no.’s 39, 40 and 41 are based on the hypothetical situation given below.

On 1 October 2020, Ravi and Vijay started their Partnership Firm in the
name of Indoors for selling air purifiers on digital mode. Ravi and Vijay
decided to invest ¥ 4,00,000/- and T 6,00,000/- respectively as capital. The
books were closed on 31% March 2021, on which date the following

39.

information was provided by the firm:.

Particualrs ~ Amount ()
Profit 2,00,000 ]
Salary to Ravi 10,000 per month
Interest on Capital (As a Charge) 10% p.a. )
a 10% of net sales which was 3,00,000

Commission to Vijay

during the year.

Sinc

e they were good friends of each other, they were not having any

explicit agreement in place except the above.

i wE e fafEm e § eand
Fi-
(a)
(c)

4 7 2,00,000
<% 1,00,000

23

- (b)
Yd) s 340,000

fopT W el @1d Y ARY L O

oy ¥ 1,50,000
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Calculate the amount of profits to be transferred to Profit and Loss
Appropriation Account. -

(@)  Profit¥ 2,00,000 (b)  Profit ¥ 1,50,000
(c)  Profit¥ 1,00,000 (d) Profit T 40,000
40. fas o qsit @ ® fopan oy ofaf@ feran smam:

(a)  ¥30,000 (b) T 20,000

(c) ¥5,00 (d) T 60,000

How much profit will be transferred to Vijay’s Capital A/c:
(a) 30,000 (b) ¥20,000

(c) 5,00 (d) ¥60,000

41. 01 T&ER 2020 =1, afz @ 3 & =1 T 30,000 F1 FHO feam qqEH @l
Ay = fog & * w1 | fren o =S w1 AR ST IO AR
(@ 200 (b) T 400

(c) X 600 (d) 800

On 01% December 2020, if Ravi advanced a loan of ¥ 30,000 to the firm.
Calculate the amount of interest on loan that Ravi will receive for the current

accounting period-
(@ <200 : (b) T 400
(c) T 600 ' (d T 800
HART-11
G3-F
Part 11
«Section-A
T : |
WoT 42 § 48 T ¥ el 5 wgAl @0 371 )
Instructions:

From question number 42 to 48, attempt any S questions.
Y % wem g T ¥, T A SRR (A) SR W W IR (R) H

w9 ¥ siferd foran T @:
ARTHAT (A) : Wik e ST BT SIYA IU <E B FruifE wew R

s Y =% 1 ITE fHa S el
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43.

W(R): ‘
%"{qu

FET B

ga'aﬂjﬁwémmmmmm%ﬁm
W H A el sl wiw % A wau i

(b) = ) IRR) e E, A (), (A) T S
(&) MR (R) W F iR (R) (A) F T T R

(©). = (A) s (R) e #

(@ () o 7, e R) w2

Given below are two statements, one labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A): Inventory Turnover Ratio aims to determine the efficiency
with which inventory is used.

Reaspn (R): It is because Inventory Turnover Ratio establishes the

Felatlonship between Cost of Revenue from Operations and average

mventory carried during that period. .

In the context of the above two statements, which of the following is

correct? _

(a) Both (A) and (R) are true, but (R) is not the correct explanation of
(A). | . '

(b) Both (A) and (R) are true and (R) is a correct explanation of (A).

(c) Both(A)and (R) are false.

(d) (A)is false, but (R) is true. |

AffEd § @ F S WA S S €2

(i) o1 FHA A - (i) ERY A

i) T dafd W E AT (V) = A T
(v) Gw@ @ egae

@ (i), (i) F (i) ®) (i), (i) 3R (iv)

© () (i) F () @) (i), i) 3 (V)

Which of the following are Long term Solvency ratios?
(1) Debt Equity Ratio (ii) Current Ratio . _
(ii1) " Total Assets to Debt Ratio (iv) Interest Coverage Ratio. -

(v)  Gross Profit Ratio

\
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4.

th

(@) (), (1) and (i11)

(b)Y (i), (ii1) and (iv)

() (i) (iiD) and (iv)

(@) (i), (1) and (V)

frfafgag @ Q &9 O o fa
(a) oREisT MHE WS w ¢

(b  FYd RaEe)

(©) SISER W) WACH AT % ofeer H ST

(d) U wH ger | Swnh
Which of the following is not an advantage of Ratio Analysis:
(@) Simplifies Accounting Data.

J)  Window Dressing.

yeyquy @1 @ TE

(¢)  Useful in Assessment of Operating Efficiency of Business.
(d)  Useful in Intra firm Comparison.
frfafas § 9 & W W 22

() oTeYl wipd @Rd U 2:1 T
(i) TF =9 ®U NG UM & A & fF SgW HUEEEl F F:H B

9o § IUR A1 9 U W Aty R 2
(iii)  refer gofl = =] -], F
(iv) UREmE o9 UM HI U 1 ILFT FaEE H IS IHA

1 Faior we B
@) (i), (iii) 3 (iv) (b)  (iii) 3R (iv)
(c) ad (iii) d) (i) 3 (iv)

Which one of the following is correct?

(i)  Ideal accepted Quick Ratio 1s 2:1.

(ii) A high Debt Equity ratio means that the enterprise is depending more
on borrowings or external debts in comparison to shareholders funds.

(i) Working Capital = Current Liabilities-Current Assets

(iv) Objective of calculating Operating Profit Ratio is to determine
operating efficiency of the business.

(@ (), (i) and (iv) (b) (iii) and (iv)
(¢)  Only (iii) (d) (1) and (iv)
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46. ﬁmﬁ‘fﬁ@aﬁ@aﬁq

() anﬁ.{mﬁmﬁmm

Which of the f]
(a)/ Commop

fosfyr ferem forwermr =1 s = 3

(b) e faarm
(d)y  srra favermm

lk‘)wmg 18 not a tool of Financial Statement Analysis?
S1Ze Statements,

. \g)q:ﬁ i;;:;f;:gl (:1‘ Profit and Loss. ﬁm ;{;1,:::??(::!\’y:i?dtuj]cms' )

2013 Y ST 111 W ufturn & A wem 1 H fm

Wqﬁaﬁﬁmnﬁmﬁqmmﬁf (qer 7)) T HEfE F|
HieW 1 . wmEm I |

@ |7 fow () |wem 2 ame |

®) | wfayfa wfem d (ii) | orqd e =t |

©) |10% orax (ifi) | =mam 23

@ |9z (iv) | = |

(©) |t shom (V) | Zreiita =

@ (@i, (b)-(0), (c)-(v), (d)-(ii) 3R (e)-(iv)
®)  (a)-(iii), (b)-(i), (©)-(iv), (d)-(i) 3R (e)-(v)
©  (@)-G), b)), (©)-(v), (d)-(iv) 3R (e)-(ii)

(d)

(@)-(ii), (0)-(), (0)-(v), (d)-(ii) R (e)-(v)

Match the items given in Column I with the headings/subheadings (Balance

sheet) as defined in Schedule III of Companies Act 2013 in Column 1L

Column I Column I1
(a) | Bills Payable (1) Reserve and Surplus
(b) | Securities Premium Reserve (i1) Intangible Fixed Assets
(c) | 10% Debentures (i1i)) | Trade Payables
(d) | Patents (1v) Inventories
(e) | Loose Tools (v) Long Term Borrowings

(@) (a)-(iii), (b)-(i), (¢)-(v), (d)-(ii) and (e)-(iv)
(b)  (a)-(iii), (b)-(i1), (¢)-(1v), (d)-(1) and (e)-(v)
(©)  (a)-(i), (b)-(iii), (¢)-(v), (d)-(iv) and (e)-(ii)
@)  (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) and (e)-(v)

27
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A i Ay EnE
W W ORI SR S g i A gy g @l AL

48.
R?
(1) SR ST (b)  frer wg werr ST
() TN STy (e vk e St
Which ratio explains the overall utilisation of funds by n business enterprise?
(@) Current ratio, \(h) Return on Investment ratio.
(¢)  Proprictary ratio, () Total assets on debt ralio.
-1l
Ts-©
Part 11
Section-B
Tt
WoT 49 ¥ 55 ¥ A fRll 6 wgAl = Swe Q)
Instructions:

From question number 49 to 55, attempt any 6 questions.

49.

IfE Yo @ THS SH, TEEM W SUR SH T 1/4 B S yHEer o
JTH T AW T 1,60000 T SR FERH W I FHY ANC W Hehel A1

5% ¥ wEE ¥ SUR ST =1 TR R

@ T 80,000 g ®) % 150000

(c) T 160000 d) % 3,00,000

If Cash Revenue from Operations is 1/4" of Credit Revenue from Operation
and Cost of Revenue from Operation is ¥ 1,60,000 and Gross Profit is 25%
on Cost of Revenue from Openauons The amount of Credit Revenue from

Operation is:
(a) :80,000 (b) ¥ 1,50,000

©) ¥ 1,60,000 ) ¥3,00,000 °
<o) SO o BN AfE e wufd = ¥ 62,500; ¥ = ¥ 25 ,500; eEw

@9 = T12,000; FH=RK = ¥ 50,000; wEEfe St = ¥ 50,000
(@ 1:. ' (b) 3:2.

() 21 d 3l
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51.

52.

What wij] 4
4 25,500; e the Current

Prepaiq Ratio if Liquid Assets = ¥ 62,500; Inventories =

oo Ex =
g;pltall =% 50,000, Penses = ¥ 12,000; Furniture = ¥ 50,000; Working
1.
© 21 ) =B
. (dy 3:1.
e ¥ W g HUA a1 §7

& %ﬁwmmmamwmqu%
() SIS e &, 100% @ amoR & w9 F forn S F A 5=

B Heifum fvrl #1 snur % whew & w9 § o B S 2
(i) I foavcivo & e ¥ favewor wi wEea faweTm % = A

S ST R
Frfafaa fomed & @ o
(@ =’ () AR (i) b) 2 (i) 2R (i)
(c) =H (1) 3R (i) @) Had (iii)

Which of the following statements are false?
(i) Horizontal Analysis is an indicator of trend and helps in forecasting.

(i) In Vertical Analysis 100% is taken as base and all other related
amounts are expressed as a percentage of base.

(iii) Analysis through Ratio Analysis is also known as Vertical Analysis.
Choose from the following Options:

(a) Both (i) and (iii) (b)  Both (ii) and (iii)

(c) Both (i) and (i) (d)  Only (iii)
qﬁéaﬁasmﬁqm%,@aﬁafwm A) oK TR | FW@R) F
wq T ifera fwar T :

e (A) :aﬂw.ﬁm‘#mmmaﬁwmﬁ
mw@mm%wawésm&uﬁm%l

o (R) ¢ T, S, e, e s e el % e W
enfta el 2l - .
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53.

ST & weAl & TR H, e § @ @ @ w82
(@) ﬁ(A)aﬁT(R)Fﬁ%GﬁT(R)(A)EﬁTQ’EﬁW%l A
b) T (A) SR (R) T § AR (R), (A) FT T FRO T

(c) ad (R) T B
d A (A) IR (R) e B
; the other

Given below are two statements, one labelled as Asscrtlon (A) and

labelled as Reason (R):
Assertion (A) : Current Ratio evaluate the capability of the entity to meet its

short-term obligations as and when they become due for payment.
Reason (R) : Current ratio establishes the relationship between current

assets and current liabilities.
In the context of the above two statements, which of the followmg is

correct?
(a) Both (A) and (R) are correct and (R) is the correct reason of (A).

(b) Both (A) and (R) are correct but (R) is not the correct reason of (A).

(c) Only (R) is correct.
(d) Both(A) and (R) are wrong.
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Given belo
W are two stat e ai: Agkerh :
labelled as Reason ®) ements. one labelled as Assertion (A) and the other

Assertion (A) : A hi
8, & : ¥ I]l ,l N < 1 ol H ; 2 v 1 M ‘:’. Z
position. gh Debt Equity ratio always indicates a favourable

lteason (R) : A high Debt Equity ratio indicates high safety cover and it
shows that enterprise is depending more on sharcholders funds than external

funds.

In the context of the above two statements, which of the following 1s
correct?

(@)  (A)and (R) both are correct and (R) correctly explains (A).

(b)  Both (A) and (R) are correct but (R) does not explain (A).

(c) Both (A) and (R) are incorrect.

(d) (A)is correct but (R) is incorrect.

e fofies &1 @R aga 2:1 3 orER B 2.5:1 T A TE

e ¥ Frefared fawed ST €

G) e fafae oer M L THA ¢

(i) @E SUR W A @R WAl €l

(iii) o ¥ § SR B0 o 9hdl ¢l

! fawe T

(@) e () W (b) e (i) WE €

(c) e (i) IR (iii) T 2 @) FEE (i) 3R (i) T 2
Quick ratio of Amber Ltd. is 2:1. Accountant wants to maintain it at 2.5:1.
Following options are available.

(i) Hecanpay off sundry creditors.

(i) Hecan purchase goods on credit

(iii) He can take short term loan from bank

Choose the correct option.

(a) Only (i) is correct (b)  Only (ii) is correct

"(c)  Only (i) and (iii) are correct (d)  Only (ii) and (iii) are correct

@a‘qﬁrmqﬁaﬁﬁﬂaﬁﬁ’rnﬁﬁmm%nwﬁmpooooaﬁm
aatrfsr%,fwﬁﬁmo,oooﬁqﬁmaﬁﬁx 13 7?1 ¥8 SN
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(@) e AR & w0 W 80,000 AL el N
T 1,20,000 N

) T 120,000 W] R & w0 W Sl T 80,000 WA Al &

o wg

€  ¥2,00000 R-wre] el & @ il

(d  ¥2,00000 = A & w9 A

A company has an operating cycle of ninc months. It has trade .]myuh.lcs
amounting to ¥ 2,00,000 out of which ¥ 80,000 have a maturity period of 13
months. How would this information be presented in the balance sheet?

(@) ¥ 80,000 as current liabilities and ¥ 1,20,000 as non-current liabilitics.
(b) ¥ 1,20,000 as current liabilities and ¥ 80,000 as non-current liabilities.
(¢) < 2,00,000 as non-current liabilities.

(d) ¥2,00,000 as Current liabilities.
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